

2025 National Weanling Sale Statistics (at end of selling)

	2025 National Weanling Sale	2024 National Weanling Sale	2023 National Weanling & Broodmare Sale - Weanling Session	2022 National Weanling Sale (Incl. Valachi Downs Dispersal)	2021 National Weanling Sale	2020 National Weanling Sale (via Gavelhouse)
Aggregate	\$2,410,000	\$2,485,000	\$2,609,100	\$3,486,000	\$1,820,000	\$1,044,051
Average	\$28,690	\$32,273	\$23,089	\$33,200	\$22,195	\$17,401
Median	\$15,000	\$18,000	\$12,000	\$16,000	\$11,000	\$8,250
Clearance	73%	58%	70%	88%	82%	75%
Catalogued	144	150	183	132	120	82
Offered	115	133	161	120	100	80
Sold	84	77	113	105	82	60
Top Lot	Lot 13 B.C Per Incanto - London Express \$190,000	Lot 25 B.F Satono Aladdin - Henley Road \$170,000	Lot 144 B.C Per Incanto - She's Apples \$150,000	Lot 1005 Br.C Savabeel - Bohemian Lily \$360,000	Lot 78 B.C Almanzor - Girl of My Dreams \$145,000	Lot 19, Proisir - Pennacchio \$107,500

Final 2025 National Weanling Sale Statistics (as at 1 July)

	2025 National Weanling Sale
Aggregate	\$2,505,000
Average	\$28,793
Median	\$15,000
Clearance	76%
Catalogued	144
Offered	115
Sold	87

Lot	Sire	Dam	Sex	Vendor	Purchaser	Price
0013	Per Incanto	London Express	Colt	Seaton Park Ltd	J Carey	\$190,000
0139	Super Seth	Queen Leonora	Colt	Waikato Stud Ltd	Kaha Nui Farm	\$130,000
0099	Satono Aladdin	Blue Rhythm	Filly	Rich Hill Stud	Noble Bloodstock / Prima Park / Bevan Smith Bloodstock	\$120,000
0129	Sword of State	Goldilicious	Colt	Curraghmore	Kaha Nui Farm	\$120,000
0036	Sword of State	O'Carol	Filly	Elsdon Park	Cameron Cooke Bloodstock Pty Ltd	\$90,000
0011	Proisir	Le Sablier	Filly	Hallmark Stud	Paul Moroney Bloodstock / Ascot Farm	\$85,000
0059	Profondo	Shamani	Colt	Windsor Park Stud	Paul Pertab Bloodstock Ltd	\$85,000
0097	Profondo	Auntie Condor	Colt	Seaton Park Ltd	Gary Mudgway Bloodstock	\$85,000
0110	Spirit of Boom	Chenzel	Colt	Cambridge Stud	Lordof Wingrove Limited	\$80,000
0142	Super Seth	Wintour	Colt	Waikato Stud Ltd	GTS Bloodstock	\$80,000

2025 National Weanling Sale Top Lots

2025 National Weanling Sale Leading Purchasers by Aggregate

Purchaser	Bought	Aggregate	Top Price	Тор
				Lot
Kaha Nui Farm	3	\$300,000	\$130,000	139
Lordof Wingrove Limited	3	\$200,000	\$80,000	110
J Carey	1	\$190,000	\$190,000	13
Noble Bloodstock / Prima Park / Bevan Smith	2	\$190,000	\$120,000	99
Bloodstock				
GTS Bloodstock	3	\$171,000	\$80,000	142
Paul Pertab Bloodstock Ltd	3	\$162,500	\$85,000	59
Cameron Cooke Bloodstock Pty Ltd	2	\$145,000	\$90,000	36
Gary Mudgway Bloodstock	1	\$85,000	\$85,000	97
Paul Moroney Bloodstock / Ascot Farm	1	\$85,000	\$85,000	11
Mr KA Pertab	4	\$80,000	\$40,000	137

Vendor	Offered	Sold	Aggregate	Average	Top Price	Top Lot
Curraghmore	8	8	\$465,000	\$58,125	\$120,000	129
Seaton Park Ltd	11	8	\$377,500	\$47,188	\$190,000	13
Waikato Stud Ltd	6	5	\$300,000	\$60,000	\$130,000	139
Cambridge Stud	6	6	\$242,000	\$40,333	\$80,000	110
Little Avondale Stud	10	8	\$151,500	\$18,938	\$70,000	52
Rich Hill Stud	7	5	\$139,000	\$27,800	\$120,000	99
Elsdon Park	5	5	\$118,000	\$23,600	\$90,000	36
Windsor Park Stud	5	4	\$114,000	\$28,500	\$85,000	59
Hallmark Stud	4	4	\$101,000	\$25,250	\$85,000	11
Brighthill Farm	11	7	\$100,000	\$14,286	\$35,000	61
Leanach Lodge Ltd	6	5	\$76,000	\$15,200	\$30,000	70
Mana Park	1	1	\$70,000	\$70,000	\$70,000	116
Haunui Farm	5	4	\$65 <i>,</i> 500	\$16,375	\$27,500	93
Milan Park	6	5	\$63,500	\$12,700	\$20,000	60
Highline	4	2	\$48,000	\$24,000	\$33,000	85
Thoroughbreds						
Poplar Lodge	2	2	\$21,500	\$10,750	\$20,000	103
H. E. Richardson	1	1	\$20,000	\$20,000	\$20,000	132
Riverrock Farm	2	1	\$15,000	\$15,000	\$15,000	144
Highview	6	3	\$11,000	\$3,667	\$7,000	76
Te Keeti Bloodstock Ltd	3	1	\$3,500	\$3,500	\$3,500	21
HGT Bloodstock Ltd	1	1	\$2,000	\$2,000	\$2,000	10
S. T. Kann	2	1	\$1,000	\$1,000	\$1,000	108

2025 National Weanling Sale Vendors by Aggregate

Vendor	Offered	Sold	Average	Aggregate	Top Price	Тор
						Lot
Mana Park	1	1	\$70,000	\$70,000	\$70,000	116
Waikato Stud Ltd	6	5	\$60,000	\$300,000	\$130,000	139
Curraghmore	8	8	\$58,125	\$465,000	\$120,000	129
Seaton Park Ltd	11	8	\$47,188	\$377,500	\$190,000	13
Cambridge Stud	6	6	\$40,333	\$242,000	\$80,000	110
Windsor Park Stud	5	4	\$28,500	\$114,000	\$85,000	59
Rich Hill Stud	7	5	\$27,800	\$139,000	\$120,000	99
Hallmark Stud	4	4	\$25,250	\$101,000	\$85,000	11
Highline Thoroughbreds	4	2	\$24,000	\$48,000	\$33,000	85
Elsdon Park	5	5	\$23,600	\$118,000	\$90,000	36

2025 National Weanling Sale Leading Vendors by Average

2025 National Weanling Sale Sires by Average

Sire	Offered	Sold	Average	Aggregate	Top Price	Тор
						Lot
Per Incanto	2	2	\$127,500	\$255,000	\$190,000	13
Super Seth	3	2	\$105,000	\$210,000	\$130,000	139
Proisir	1	1	\$85,000	\$85 <i>,</i> 000	\$85,000	11
Spirit of Boom	1	1	\$80,000	\$80,000	\$80,000	110
Profondo*	4	4	\$62,500	\$250,000	\$85,000	97
Satono Aladdin	3	3	\$62,500	\$187,500	\$120,000	99
Savabeel	4	4	\$50,250	\$201,000	\$70,000	52
Bivouac	1	1	\$50,000	\$50,000	\$50,000	127
Sword of State	10	9	\$48,722	\$438,500	\$120,000	129
Staphanos	3	2	\$40,500	\$81,000	\$75,000	45
U S Navy Flag	2	1	\$30,000	\$30,000	\$30,000	94
Acrobat	1	1	\$28,000	\$28,000	\$28,000	133
Noverre	11	7	\$22,429	\$157,000	\$57,500	40
Shamexpress	2	2	\$20,500	\$41,000	\$33,000	85

2025 National Weanling Sale Results

Prague	1	1	\$20,000	\$20,000	\$20,000	60
Hello Youmzain	4	3	\$17,000	\$51,000	\$30,000	70
Circus Maximus	2	1	\$15,000	\$15,000	\$15,000	144
Sweynesse	3	3	\$14,000	\$42,000	\$35,000	61
Contributer	1	1	\$13,000	\$13,000	\$13,000	62
Anders	1	1	\$12,500	\$12,500	\$12,500	89
Ardrossan	9	4	\$12,000	\$48,000	\$20,000	103
Shocking	3	2	\$10,500	\$21,000	\$11,000	17
Eminent	1	1	\$10,000	\$10,000	\$10,000	49
Ocean Park	3	2	\$10,000	\$20,000	\$15,000	9
Almanzor	5	5	\$9,400	\$47,000	\$16,000	119
Ribchester	3	3	\$8 <i>,</i> 833	\$26,500	\$15,000	39
Microphone	1	1	\$8,000	\$8,000	\$8,000	14
Redwood	1	1	\$7,000	\$7,000	\$7,000	76
Santos	6	3	\$6,333	\$19,000	\$15,000	100
Embellish	3	2	\$6,250	\$12,500	\$9,000	115
Strasbourg	1	1	\$6 <i>,</i> 000	\$6,000	\$6,000	16
Ace High	5	4	\$4,500	\$18,000	\$10,000	3
Tivaci	2	2	\$3,000	\$6,000	\$5,000	135
Vadamos	1	1	\$3,000	\$3,000	\$3,000	66
Armory	1	1	\$1,500	\$1,500	\$1,500	58
Banquo	1	1	\$1,000	\$1,000	\$1,000	108
The Chosen One	2	1	\$1,000	\$1,000	\$1,000	105
Time Test	1	1	\$1,000	\$1,000	\$1,000	86
Turn Me Loose	2	1	\$1,000	\$1,000	\$1,000	53

*first season sire